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cc>  g F1  + F,fl + Fsg,  ; 5 = Fzf, ; g= F,g,

2 d2w 2W

*dX2
=-+!J

a x2

4 a ? = - 2x3u  f 2xyzv  + x2y  - 3y2
’ ax x4  + 4 ys

un~b~wl;eran~u

au 1 2y5 - 12x2yQ  - 9x4y2  + x6y_- -
3X (x4  + 4 yv

5 . az=-  5 az=-F,
ax F,  ’ 3 F,

6. d2z  = F,F,F,,  F,2  F,, F,”  F,l2 - -
axa  Fs8

- F,F,Fm  + F,F,F,,  - F,F&,,  - F,2  F,,aaz
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, dx= iXF,G) 3CF.G)  d y  _ 8F.G) cXF,G)
’ dt

-l-,----aty,t)  a(xsy)  dt l-atx,t)  a(x,y)
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8. (R,(x)1  < B"(;;a)"+O

9. 16 f(x) = f(a) - i(a)  (x - a) + "(" t -a)2 i+ X = 0,
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f(p) = {J.l$}  { JJ,o}-’
i&u~ f(p) > 6

wJhGl  2.2
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A
x2-x  + 1 LUfl  x2 1

1. (a) F(x)  =
ii0 x < 1

(b) F(x) = (eX- 1) eeX
X

2. CC> Yili  3. hm5ttnufh  v = 1
u
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6. J;dy  J;f(x,yhx  + J;dy J’f(x,y)dx
Y

9.9. J; dx J;  dz J,2  8, y, z)dyJ;  dx J;  dz J,2  8, y,  z)dy
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11. (a>11. (a> q ; (b) ; e4  - $q ; (b) ; e4  - $
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18. (a>
3eX3-2eX2. , (b) 3 cos(12x) - 2 cos(8x)

19. h-m J;:x J; Iy - xldy
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(c) 1; b, == -!.- h6J n k A + 2
n-A-1

5. 1: logs

6. (b) &;J 6~)  9%  (d) Q?J%+  S hc warz ineguality (f> wbtmr9in  n + 1 & 2n

7.. 1; ak  = 3 Jk U&Ii Schwarz  inequality

1. linl~nnRouuuur~s^~t~~

2. (a) - 1 < r < 1 (b) x = 0 (c) - 3 < x Q - 1

(d))xld $ (e,Ix - 1 I<  83 Cd  s > 0

(g) - e-’ :G f3 < e-’ (h)r>a+p (i)-1 <i<l

(j>  - ~<X<~ (k)  x > - 1 & x < - 2

(I)  x G 0 &I x > 2 (m> pn x

3. (a>  0 (b) 15 (c>  00 t-ii c < 1, 1 Iii c = 1, 0 t-7  C > 1

4. hnn c l(P, + , - PJ
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1.
2” + 1 +(-I)"
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2. -2<x<1
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4
WlJWti%  4 . 2

1. (b)  1 = ,+(;-,) = 1 - (x - I) + (x - de  - (x - I>*  f .  .  .
X

(c)  log (1 + x2) = x2  - i$  + $2 - .  .  .

2. (a> x -d4,  {x $ +-} = s ; cc>  ; l o g  (5)

3. (a>  ‘hihi  (b)  Ii 4. Ihnttnanmnqk$n  4.1 i

5 .  &w=---1+  i*
2

3 ll&  w=  + w + 1 =  0

6 .  v i -
F(x)

= 1 - 2x + 3x2 - . . . - 96x7 -I- . . .

7 .  J-
F (xl

&AW~Ulxl

8. n”l  # = < QPC Lrn;  tan $  = = i + c + . . . , 91n
1 + 2 co,; 3 72
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,rlJlJiinvih  4.4

1. ‘Lit=: 2. (b)  %i  A(x) = 0
Y

(b) ; r(a>  $j)

6. (a> LeMb + +/;  erf (!-)  - 47/ (b)  qerf  (1)  - &

(c) F(x) o+$  $


